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QUESTION 1

A customer list from a financial services company is shown below:

Name Number of credit cards Age Income
Sean 0 27 $60,000
Angela 4 31 $50.,000
Terry 3 40 $170,000
Paula 1 25 $70,000
Malecolm | 3 28 $150,000

A data analyst wants to create a likely-to-buy score on a scale from 0 to 100, based on an average of the three
numerical variables: number of credit cards, age, and income. Which of the following should the analyst do to the
variables to ensure they all have the same weight in the score calculation?

A. Recode the variables.

B. Calculate the percentiles of the variables.

C. Calculate the standard deviations of the variables.

D. Normalize the variables.

Correct Answer: D

Normalizing the variables means scaling them to a common range, such as 0 to 1 or -1 to 1, so that they have the same
weight in the score calculation. Recoding the variables means changing their values or categories, which would alter
their meaning and distribution. Calculating the percentiles of the variables means ranking them relative to each other,
which would not account for their actual magnitudes. Calculating the standard deviations of the variables means

measuring their variability, which would not make them comparable. References: CompTIA Data+ Certification Exam
Objectives, page 10

QUESTION 2

Which one of the following programming languages is specifically designed for use in analytics applications?
A. Python.

B.R

C.C++

D. Java.

Correct Answer: B
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QUESTION 3

Which of the ing is the correct ion for a tab-delimited spre file?

A. tap

B. tar

C.sv

D.az

Correct Answer: C

Explanation: A tab-delimited spreadsheet file is a type of flat text file that uses tabs as delimiters to separate data values
in a table. The file extension for a tab-delimited spreadsheet file is usually .tsv, which stands for tab-separated values.

Therefore, the correct answer is C. References: [Tab-separated values - Wikipedia], [What is a TSV File? | How to
Open, Edit and Convert TSV Files]

QUESTION 4

Which of the following would a data analyst look for first if 100% participation is needed on survey results?

A. Missing data

B. Invalid data

C. Redundant data

D. Duplicate data

Correct Answer: A

Missing data is a type of data quality issue that occurs when some values in a data set are not recorded or available.
Missing data can affect the validity and reliability of survey results, especially if the missing values are not random or
ignorable. Missing data can also reduce the sample size and the statistical power of the analysis12 If 100% participation
is needed on survey results, a data analyst would look for missing data first, because missing data would indicate that
some participants did not complete or submit the survey, or that some responses were not recorded or transmitted

correctly. A data analyst would need to identify the causes and patterns of missing data, and apply appropriate methods
to handle or prevent missing data, such as imputation, deletion, weighting, or follow-up12

QUESTION 5

An analyst is working with the income data of suburban families in the United States. The data set has a lot of outliers,
and the analyst needs to provide a measure that represents the typical income. Which of the following would BEST fulfill
the analyst\\'s goal?

A. Median

B. Mean

C. Mode
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D. Standard deviation
Correct Answer: A

his is because median is a type of statistical measure that represents the typical value or central tendency of a data set,
which means that it divides the data set into two equal halves, such that half of the values are above it and half are
below it. Median can be used to provide a measure that represents the typical income of suburban families in the United
States, especially when the data set has a lot of outliers, which means that it has values that are unusually high or low
compared to the rest of the data set. Median can provide a measure that represents the typical income of suburban
families in the United States, because it is not affected or skewed by the outliers, as it only depends on the middle value
or the middle two values of the data set, regardless of how extreme or distant the outliers are. For example, median can
provide a measure that represents the typical income of suburban families in the United States, by finding the income
value that splits the data set into two equal groups of families, such that 50% of the families have higher incomes and
50% have lower incomes. The other statistical measures are not the best measures to represent the typical income of
suburban families in the United States. Here is why:

Mean is a type of statistical measure that represents the average value or central tendency of a data set, which means
that it is the sum of all the values divided by the number of values. Mean is not a good measure to represent the typical
income of suburban families in the United States, especially when the data set has a lot of outliers, because it is
affected or skewed by the outliers, as it takes into account all the values in the data set, regardless of how extreme or
distant they are. For example, mean can provide a measure that does not represent the typical income of suburban
families in the United States, by finding the income value that is influenced by a few very high or very low incomes,
which could make it higher or lower than most of the incomes in the data set. Mode is a type of statistical measure that
represents the most frequent value or mode of a data set, which means that it is the value that occurs most often in the
data set. Mode is not a good measure to represent the typical income of suburban families in the United States,
especially when the data set has a lot of outliers, because it is not representative or indicative of the central tendency or
distribution of the data set, as it only depends on the count or occurrence of a single value or a few values in the data
set, regardless of how common or rare they are. For example, mode can provide a measure that does not represent the
typical income of suburban families in the United States, by finding the income value that is repeated more often than
others, which could be an outlier or an anomaly in the data set. Standard deviation is a type of statistical measure that
represents the amount of dispersion or variation of a data set, which means that it quantifies how much the values in a
data set vary or deviate from the mean or average of the data set. Standard deviation is not a measure that represents
the typical income of suburban families in the United States, but rather a measure that describes the spread or
distribution of their incomes, as well as identifies any outliers or extreme values in their incomes. For example, standard
deviation can provide a measure that describes how diverse or homogeneous their incomes are, as well as how far their
incomes are from their average income.
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